

# **DISTRICT & SESSIONS COURT**

## East Jaintia Hills District, Khliehriat

## QUESTION BOOKLET

**Examination for the post of Lower Division Assistant Cum Bench Assistant** 

**FULL MARKS: 100** 

TIME: 2 HOURS

TIMING: 9:00 AM TO 11:00 AM

For solved Question paper, visit

**SERIES - I** Megeducations.com

#### **INSTRUCTIONS TO CANDIDATES**

- This booklet contains questions for 100 marks to be answered in a separate OMR Answer Sheet using Black / Blue Ball Pen.
- All Questions are compulsory.
- You will be supplied with the separate OMR Answer sheet separately by the invigilator. You must complete the details of particulars asked for.
- Answers must be shown by completely blackening the corresponding circles in the Answer Sheet against the relevant question number by Black / Blue Pen. OMR Answer Sheet without marking series / double series marking shall not be evaluated.
- Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do not spend too much time on any one question.
- The Answer Sheet must be handed over to the invigilator before you leave the Examination Hall.
- No rough work is to be done on the OMR Answer Sheet. Separate sheet will be provided for rough work if required.

Exam Date: 01-12-2022

For solved Question paper, visit Megeducations.com

## **DISTRICT & SESSIONS COURT**

East Jaintia Hills District, Khliehriat

### **EXAMINATION FOR THE POST OF LOWER DIVISION ASSISTANT CUM BENCH ASSISTANT**

## SERIES - I

I.	GENERAL KNOWLE	CDGE	[35 marks
(A)	ANSWER THE FOLL	OWING QUESTION	$[1 \times 35 = 35 \text{ marks}]$
Q1.	Which is the longest Na	tional Highway in India	
	(A) NH-44	For solved Question paper, visit	
	(B) NH-1	Megeducations.com	J
	(C) NH-2		
	(D) NH-10		
	(E) None of the abo	ve	
Q2.	Which among the follow	ving is the smallest district of India?	
	(A) Alapuza		
	(B) Davsa		
	(C) Mahe		
	(D) Tirap		
	(E) None of the abo	ve	
Q3.	Study of interaction bet	ween living organisms and environment is	known as
	(A) Pedology		
	(B) Ecology		
	(C) Biology		
	(D) Zoology		
	(E) None of the abo	ve	
Q4.	How many pairs of ribs	are there in a human body	
	(A) 10 pairs		
	(B) 12 pairs		
	(C) 14 pairs		

(D) 16 pairs

(E) 18 pairs

Q5.	Butter is a?
	(A) Fat dispersed in milk
	(B) Fat dispersed in water
	(C) Water dispersed in fat
	(D) Milk dispersed in fat
	(E) None of the above
Q6.	Pradhan Mantri Gram Sadak Yojana (PMGSY)-III has been launched in which State?
	(A) Gujarat
	(B) Himachal Pradesh or solved Question paper, visit
	(C) Sikkim Megeducations.com
	(D) Kerela
	(E) None of the above
Q7.	Durgavati Tiger Reserve, which was notified recently, is located in which State/UT?
	(A) West Bengal
	(R) Madhya Pradesh
	(C) Maharashtra
	(D) Andhra Pradesh
	(E) Uttar Pradesh
Q8.	What is the upper limit of the 'UPI Lite' payment transaction?
	(A) Rs. 1000/-
	(B) Rs. 500/-
	(C) Rs. 200/-
	(D) Rs. 100/-
	(E) Rs. 50/-
Q9.	The Nobel Prize for Physics 2022 is being shared by three scientists, for their work in which
	field
	(A) Nuclear Physics
	(B) Quantum mechanics
	(C) Atomic science
	(D) Space Science

(E) None of the above

Q10.	As per the latest figures f	from the IMF (September, 2022), which country is the fifth largest
	economy in the world?	
	(A) UK	
	(B) India	
	(C) France	
	(D) Australia	
	(E) China	
Q11.	Which Indian businesspe	erson recently became the third-richest person in the world, as per
	the Bloomberg Billionaire	e Index ?
	(A) Mukesh Ambani	For solved Question paper, visit
	(B) Gautam Adani	Megeducations.com
	(C) Cyrus Poonawala	
	(D) Radhakishan Dam	nani
	(E) Anil Ambani	
Q12.	Who among the following	has launched a countrywide mega drive 'Raktdaan Amrit Mahotsav'
	for voluntary blood dona	tion ?
	(A), Mansukh Mandav	riya
	(B) Piyush Goyal	
	(C) Anurag Thakur	
	(D) Jitendra Singh	
	(E) None of the above	
Q.13	Which city has signed an	MoU with the firm Pataa Navigations to become the country's first
	'Smart City' with a digital	al address in September, 2022?
	(A) MaIndore	
	(B) Ahmedabad	
	(C) Lucknow	
	(D) Raipur	
	(E) None of the above	
Q14.	Which of the following U	Union Minister has launched the Dashboard of the Department of
	Science and Technology (	DST) in September, 2022 ?
	(A) Rajnath Singh	
	(B) Dr Jitendra Singh	
	(C) Amit Shah	
	(D) Nitin Gadkari	
	(E) None of the above	

-5-

Q15.	Which Union Ministry organized the 'EU-India Green Hydrogen Forum'?
	(A) Ministry of External Affairs
	(B) Ministry of Power
	(C) Ministry of Commerce and Industry
	(D) Ministry of New and Renewable Energy
	(E) Ministry of Agriculture & Farmers Welfare
Q16.	Who has been appointed as the next chief of the United Nations Human Rights?
	(A) Melissa Flaming
	(B) Susan Akram For solved Question paper, visit Megeducations.com
	(C) Achim Steiner
	(D) Volker Turk
	(E) None of the above
Q17.	E—Daakhil portal is launched by which Central Ministry?
	(A) Ministry of Consumer Affairs
	(B) Ministry of Labour and Employment
	(C) Ministry of Commerce and Industry
	(D) Ministry of Finance
	(E) Ministry of External Affairs
Q18.	The first edition of the 'World Health Summit for Pride of Homeopathic held in which city?
	(A) Berlin
	(B) Dubai
	(C) Paris
	(D) London
	(E) China
Q19.	300-meter long Atal Bridge has been inaugurated in which city of Gujarat?
	(A) Ahmedabad
	(B) Vadodara
	(C) Surat
	(D) Rajkot
	(E) Gandhinagar

Q20.	Which	company has announced a campaign to upskill cybersecurity researchers and
	develop	ers in India?
	(A)	Adobe
	(B)	Google
	(C)	Microsoft
	(D)	Apple
	(E)	Linux
Q21.	Which	company has partnered with UNESCO to promote and safeguard the 'Intangible
	Cultura	al Heritage of India'?
	(A)	Ashoka Leyland For solved Question paper, visit
	(B)	Tata Motors Megeducations.com
	(C)	Royal Enfield
	(D)	Mahindra & Mahindra
	(E)	Hyundai
Q22.	Who ha	as launched 'Azadi Quest', a series of online educational games based on India's
	freedon	n struggle, developed in collaboration with Zynga India?
	(A)	Amit Shah
	(B)	Anurag Thakur
	(C)	Rajnath Singh
	(D)	Jyotiraditya Scindia
	(E)	None of the above
Q23.	The gov	vernment has approved a proposal to give specific names to which of the following
	organiz	cations based on regional heroes, freedom fighters, and historic events?
	(A)	IIM
	(B)	NIT
	(C)	AIIMS
	(D)	Airport
	(E)	ICAR
Q.24	Which 1	portal has been launched by the union government to bring together all the awards of
	the vari	ious Ministries of the government under one platforms?
	(A)	Gallantry Awards Portal
	(B)	Ra <b>s</b> htriya Puruskar Portal
	(C)	National Awards Portals
	(D)	Rashtriya Awards Portal
	(E)	None of the above

-7-

# Q25. According to the government of India, transgenders will be brought under which schemes? (A) Ayushman Bharat Pradhan Mantri Jan Arogya Yojana (B) Pradhan Mantri Mudra Yojana (C) Atal Pension Yojana (D) Pradhan Mantri Jan Dhan Yojana (E) None of the above

# Q26. Which company has developed India's first indigenously-developed RT-PCR kit for testing monkeypox disease?

- (A) Bharat Biotech
- For solved Question paper, visit
- (B) Serum Institute of Mediaducations.com
- (C) Biocon
- (D) Transasia Bio-Medicals
- (E) Moderna, Inc.

#### Q27. Name the longest cave in Meghalaya?

- (A) Krem Liat Prah (Shnongrim)
- (B) Krem Kotsati (Lumshnong)
- (C) Krem Puri (Mawsynram)
- (D) Krem Mawmluh (Cherrapunji)
- (E) None of the above

#### Q28. Mention the name of the first Governor of Meghalaya?

- (A) Mr. Satya Pal Mallik
- (B) Mr. Braj Kumar Nehru
- (C) Mr Bhisma Narain Singh
- (D) Mr. Ganga Prasad
- (E) None of the above

#### Q29. When was East Jaintia Hills District established?

- (A) 31st June 2012
- (B) 31st. July 2011
- (C) 31st July 2012
- (D) 31st. June 2014
- (E) 31st May, 2012

Q30.	Name t	he highest peak in East Jaintia Hills District
	(A)	Lum Iakor Sing
	(B)	Lum Maryngksih
	(C)	Lum Sunaraja
	(D)	Lum Bahbo Bahkong
	(E)	Lum Tiniang
Q31.	How ma	any C & RD Blocks are there in East Jaintia Hills District?
	(A)	1
	(B)	2
	(C)	
	(D)	For solved Question paper, visit  Megeducations.com
	(E)	· · · · · · · · · · · · · · · · · · ·
Q32.	When is	s the 'Ayushman Bharat Diwas' celebrated in India ?
	(A)	April 25
	(B)	April 30
	(C)	May 1
	(D)	May 5
	(E)	June 30
Q33.	What is	the Khasi name for "Elephant Falls"?
	(A)	Ka Kshaid Lai Pateng Khohsiew
	(B)	Ka Kshaid Khohsiew Lai Pateng
	(C)	Ka Kshaid Pateng Lai Khohsiew
	(D)	Ka Kshaid Lai Khohsiew Pateng
	(E)	None of the above
Q34.	What is	the State Tree of Meghalaya ?
	(A)	Alder
	(B)	Gamhar
	(C)	Agarwood
	(D)	Uningthou
	(E)	Khasi Pine
Q35.	When d	lid Meghalaya become an autonomous state within Assam?
	(A)	1st April, 1969
	(B)	1st April, 1970
	(C)	21st January, 1971
	(D)	21st January, 1972
	(E)	21st January, 1969

#### A. SPOT THE ERROR IN THE SENTENCE

 $[1 \times 5 = 5 \text{ Marks}]$ 

- Q36. My uncle said that (A) / he would reach to (B) / the bus stand with all his (C) / belongings within an hour. (D) / No Error (E)
  - (A) My uncle said that
  - (B) he would reach to
  - (C) the bus stand with all his
  - (D) belongings within an hour
  - (E) No Error
- Q37. The dictator sentenced the social activist (A)/to ten years of rigorous imprisonment (B)/just because she vauched for (Medwomentiempowerment in a blog. (D)/No Error
  - (A) The dictator sentenced the social activist
  - (B) to ten years of rigorous imprisonment
  - (C) just because she vauched for
  - (D) Women empowerment in a blog.
  - (E) No Error
- Q38. The waiter of the new (A) / restaurant asked me if he should (B) / bring me the special dish (C) / prepared by their chef. (D) / No Error (E)
  - (A) The waiter of the new
  - (B) restaurant asked me if he should
  - (C) bring me the special dish
  - (D) prepared by their chef.
  - (E) No Error
- Q39. Find the error in one of the following fragments/parts.
  - (A) The fruits of peace are limited
  - (B) to the revival of economic activity,
  - (C) but the pervasive grievances
  - (D) of the minority remains.
  - (E) No error
- Q40. Find the error in one of the following fragments/parts.
  - (A) When tensions persist among
  - (B) communities, nothing can made up
  - (C) for the absence of reconciliation
  - (D) and trust among all sections.
  - (E) No error

# B. CHOOSE AMONG THE FOLLOWING THAT BEST EXPRESSES THE MEANING OF THE GIVEN WORD. [1 x 5 = 5 Marks]

#### Q41. INDIGNANT

- (A) Useless
- (B) Exasperated
- (C) Scoundrel
- (D) Indecent
- (E) gleeful

#### Q42. PILLAGE

- (A) Pictorial
  - A) Pictoriai Me
- (B) Peculiar
- (C) Foe
- (D) Plunder
- (E) demote

#### Q43. EXCULPATE

- (A) Absolve
- (B) Effete
- (C) Pigmy
- (D) Perilous
- (E) Indict

#### Q44. CORPULENT

- (A) Lean
- (B) Gaunt
- (C) Emaciated
- (D) Obese
- (E) Slender

#### Q45. SURFEIT

- (A) Shortage
- (B) Satiate
- (C) Canny
- (D) Voluptuous
- (E) base

For solved Question paper, visit Megeducations.com

# C. IN THE FOLLOWING QUESTIONS CHOOSE THE WORD WHICH IS THE EXACT OPPOSITE OF THE GIVEN WORDS $[1 \times 5 = 5 \text{ Marks}]$

#### Q46. ENORMOUS

- (A) Soft
- (B) Average
- (C) Tiny
- (D) Weak
- (E) Huge

#### Q47. COMMISSIONED

- (A) Started
- For solved Question paper, visit Megeducations.com
- (B) Closed
- (C) Finished
- (D) Terminated
- (E) Licensed

#### Q48. ARTIFICIAL

- (A) Red
- (B), Natural
- (C) Truthful
- (D) Solid
- (E) insincere

#### Q49. EXODUS

- (A), Influx
- (B) Home-coming
- (C) Return
- (D) Restoration
- (E) withdrawal

#### Q50. RELINQUISH

- (A) Abdicate
- (B) Renounce
- (C) Possess
- (D) Deny
- (E) Surrender

- D. IN QUESTIONS GIVEN BELOW, A PART OF THE SENTENCE <u>IS ITALICIZED</u>

  <u>AND UNDERLINED</u>. BELOW ARE GIVEN ALTERNATIVES TO THE ITALICIZED

  PART WHICH MAY IMPROVE THE SENTENCE. CHOOSE THE CORRECT

  ALTERNATIVE. IN CASE NO IMPROVEMENT IS NEEDED, OPTION 'D' IS THE

  ANSWER. [1 X 5 = 5 MARKS]
- Q51. If the room had been brighter, I would have been able to read for a while before bed time.
  - (A) If the room was brighter
  - (B) If the room are brighter
  - (C) Had the room been brighter
  - (D) If the room has been brighter
  - (E) No improvement For solved Question paper, visit
- Megeducations.com Q52. <u>His powerful desire</u> brought about his downfall.
  - (A) His intense desire
    - (B) His desire for power
    - (C) His fatal desire
    - (D) His want for power
    - (E) No improvement
- Q53. They are social insects, *living in communities*, regulated by definite laws, each member of society bearing well-defined and separate part in the work of a colony.
  - (A) who are living in communities
  - (B) living among a community
  - (C) who lives with a community
  - (D) living in community
  - (E) No improvement
- Q54. Will you kindly open the knot?
  - (A) untie
  - (B) break
  - (C) loose
  - (D) cut
  - (E) No improvement
- Q55. If he *had* time he will call you.
  - (A) would have
  - (B) would have had
  - (C) has
  - (D) have
  - (E) No improvement

E. SOME PROVERBS/IDIOMS ARE GIVEN BELOW TOGETHER WITH THEIR MEANINGS. CHOOSE THE CORRECT MEANING OF PROVERB/IDIOM, IF THERE IS NO CORRECT MEANING GIVEN, D (I.E.) 'NONE OF THESE' WILL BE THE ANSWER

[1 x 5 = 5 Marks]

#### Q56. A man of straw

- (A), A man of no substance
- (B) A very active person
- (C) An unreasonable person
- (D) A worthy fellow
- (E) None of these

For solved Question paper, visit

Megeducations.com

#### Q57. Tip the balance

- (A) Measure the weight of any substance
- (B) Balance a pair of scales
- (C) Exert influence to alter the outcome
- (D), To cause a change
- (E) None of these

#### Q58. To drive home

- (A) To find one's roots
- (B) To return to place of rest
- (C) To emphasise
- (D) To reach a person
- (E) None of these

#### Q59. To set one's face against

- (A) To oppose with determination
- (B) To judge by appearance
- (C) To look at one steadily
- (D) To get out of difficulty
- (E) None of these

#### Q60. To have an axe to grind

- (A) A private end to serve
- (B) To fail to arouse interest
- (C) To have no result
- (D) To work for both sides
- (E) None of these

<b>F.</b>	СНОО	SE THE CORR	ECT ONE WORD SUBSTITUTION FOR THE FOLLOWING
	PHRA	SES:	$[1 \times 5 = 5 \text{ Marks}]$
Q61.	One wh	no sneers at the bo	eliefs of others
	(A)	Buoyant	
	(B)	Cynic	
	(C)	Optimistic	
	(D)	Sanguine	
	(E)	trustful	
Q62.	An ora	tor or a leader wh	no espoused the cause of the common man
	(A)	Pleaser	For solved Question paper, visit  Megeducations.com
	(B)	Malevolent	
	(C)	Demagogue	
	(D)	Sinister	
	(E)	peacemaker	
Q63.	A dabb	ler(not serious) in	n art, science and literature
	(A)	Dilettante	
	(B)	Professional	
	(C)	Handsome	
	(D)	Versatile	
	(E)	Specialists	
Q64.	A perso	on of intellectual o	or erudite taste
	(A)	Lowbrow	
	(B)	Illiterate	
	(C)	Highbrow	
	(D)	Ignorant	
	(E)	Unlettered	
Q65.	A perso	on who dislikes hu	ımankind and avoids human society
	(A)	Believer	
	(B)	Misanthrope	
	(C)	Humantarian	
	(D)	Philanthropist	
	(E)	ingenuous	

# G. LETTER WRITING: CHOOSE ANY ONE (Plain sheet will be provided for letter writing)

[5 Marks]

Write a letter to the Deputy Commissioner of your District complaining about the street light problem in your locality.

Or

Write a letter to the editor of a daily newspaper to mention in their paper about the Traffic Jam in your town.

#### III. COMPUTER KNOWLEDGE

[15 Marks]

#### (A). CHOOSE THE CORRECT ANSWER

[1×15=15]

#### Q66. RAM means.

- (A) Read Access Memory
- (B) Random Allocate For solved Question paper, visit Memory Megeducations.com
- (C) Random Access Memory
- (D) Read Allocate Memory
- (E) None of the above

#### Q67. BIOS stands for

- (A) Bit Information Operating System
- (B) Basic Input Output System
- (C) Basic Input Operating System
- (D) Basic Information Output System
- (E) None of the above

#### Q68. Which type of interface does Windows Operating System have?

- (A) GUI
- (B) CUI
- (C) GIU
- (D) CIU
- (E) None of the above

#### Q69. Execution of instruction takes place in the

- (A) Control Unit
- (B) Arithmetic and Logic Unit
- (C) Output Unit
- (D) Storage Unit
- (E) None of the above

#### Q70. Which is the smallest storage unit in a computer system?

- (A) Byte
- (B) Nibble
- (C) Bit
- (D) Kilobyte
- (E) None of the above

Q71.	Which	is a Math function in MS EXCEL?
	(A)	LEN()
	(B)	DATE()
	(C)	SQRT()
	(D)	All of the above
	(E)	None of the above
Q72.	An Exc	el formula must start with
	(A)	\$
	(B)	#
	(C)	
	(D)	
	(E)	() Megeducations.com
Q73.	How m	any generations are computers currently classified into
	(A)	6
	(B)	5
	(C)	4
	(D)	2
	(E)	8
Q74.	What is	s Half Byte called ?
,	(A)	Kilo Byte
	(B)	Bit
	(C)	Nibble
	(D)	Word Size
	(E)	None of the above
Q75.	In a con	mputer, most processing takes place in?
	(A)	CPU
	(B)	keyboard
	` /	
	(C)	UPS
		UPS Scanner
	(C)	
Q76.	(C) (D) (E)	Scanner
Q76.	(C) (D) (E)	Scanner Monitor
Q76.	(C) (D) (E) What is	Scanner  Monitor  known as Temporary Memory or Volatile memory ?
Q76.	(C) (D) (E) What is (A)	Scanner Monitor s known as Temporary Memory or Volatile memory? SSD
Q76.	(C) (D) (E) What is (A) (B)	Scanner Monitor  s known as Temporary Memory or Volatile memory?  SSD  HDD

Q77.	The mai	in working area in Windows based system	
	(A)	Icon	
	(B)	Desktop	
	(C)	Folder	
	(D)	Both a & c option	
	(E)	None of the above	
Q78.	A softw	are use to manipulate textual information.	
	(A)	Spreadsheet Software	
	(B)	Word Processing Software	
	(C)	Graphic Software	
	(D)	All of the above	
	(E)	None of the above Megeducations.com	
Q79.		show option to continuously repeat presentation.	
	(A)	Loop Repeatedly until 'Esc'	
	(B)	Looping until 'Esc'	
	(C)	Loop Continuously until 'Esc'	
	(D)	Both Option a & b	
	(E)	None of the above	
Q80.	Which	of the following languages is written in binary form?	
		Java	
	(B)	C	And the second s
	(C)	Pascal	
	(D)	Machine Language	
	(E)	None of the above	
IV.	ELEM	ENTARY MATHEMATICS	[15 Marks]
	СНОО	SE THE CORRECT ANSWER	$[1 \times 15 = 15]$
Q81.	capital	tarted a business by investing Rs. 48,000. After 7 months of Rs. 56,000. At the end of the year of the total profit was R f the profit?	
	(A)	3625	
	(B)	1650	
	(C)	1925	
	(D)	3960	
	(E)	None of these	
Q82.	3745 ÷	$24.05 \times 17.98 = ?$	
	(A)	2860	
	(B)	2800	
	(C)	2760	
	(D)	2720	
	(E)	2840	

(A) 2401 (B) 49 (C) 343 (D) 7 (E) None of these  Q84. The Cube Root of 5000 is (A) 15 (B) 9 (C) 29 (D) 32 (E) 17 For solved Question paper, visit  Q85. 1019.999 + 60.007 (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers? (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/? (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24 (E) None of these	Q83.	$(49)^3 \div (7)^2 = ?$	
(C) 343 (D) 7 (E) None of these  Q84. The Cube Root of 5000 is  (A) 15 (B) 9 (C) 29 (D) 32 (E) 17 For solved Question paper, visit  Q85. 1019.999 ÷ 60.007 (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(D) 7 (E) None of these  Q84. The Cube Root of 5000 is (A) 15 (B) 9 (C) 29 (D) 32 (E) 17 For solved Question paper, visit  Megeducations.com (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers? (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/? (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		(B) 49	
(E) None of these  Q84. The Cube Root of 5000 is  (A) 15 (B) 9 (C) 29 (D) 32 (E) 17 For solved Question paper, visit  Q85. 1019.999 + 60.007 Megeducations.com  (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		(C) 343	
Q84. The Cube Root of 5000 is  (A) 15 (B) 9 (C) 29 (D) 32 (E) 17 For solved Question paper, visit  Q85. 1019.999 + 60.007 (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (F) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		(D) 7	
(A) 15 (B) 9 (C) 29 (D) 32 (E) 17 For solved Question paper, visit  Q85. 1019,999 ÷ 60.007 (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		(E) None of these	
(A) 15 (B) 9 (C) 29 (D) 32 (E) 17 For solved Question paper, visit  Q85. 1019.999 + 60.007 (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers? (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/? (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24	Q84.	The Cube Root of 5000	is
(B) 9 (C) 29 (D) 32 (E) 17  (E) 17  (A) 11 (B) 23 (C) 17 (D) 27 (E) 13   (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.   (B) 18 (C) 38 (D) 28 (E) None of these.  (B) 13.3 (C) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  (B) 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		(A) 15	
(D) 32 (E) 17  (B) 17  (C) 17 (D) 27 (E) 13  (C) 17 (D) 27 (E) 13  (C) 43 (D) 47 (E) None of these.  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  (B) None of these.  (C) 18 (D) 28 (E) None of these.  (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  (B) 848, 422, 208, 109, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(E) 17  Por solved Question paper, visit  (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		(C) 29	
Q85. 1019.999 ÷ 60.007  (A) 11  (B) 23  (C) 17  (D) 27  (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31  (B) 33  (C) 43  (D) 47  (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48  (B) 18  (C) 38  (D) 28  (E) None of these.  Q88. 643.1 x 84.3 = 8?  (A) 10.5  (B) 7.4  (C) 1.2  (D) 13.3  (E) None of these  Q89. 848, 422, 208, 100, 45?  (A) 16.5  (B) 18  (C) 22.5  (D) 24		(D) 32	
Q85. 1019.999 + 60.007  (A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers? (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/? (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		(E) 17	For solved Question paper visit
(A) 11 (B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers? (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/? (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24	085.	1019.999 ÷ 60.007	
(B) 23 (C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers? (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/? (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(C) 17 (D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8?  (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45?  (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(D) 27 (E) 13  Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8?  (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
Q86. The average of four consecutive odd numbers is 36. What is the smallest of these numbers?  (A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8?  (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		(E) 13	
(A) 31 (B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24	086		secutive odd numbers is 36. What is the smallest of these numbers ?
(B) 33 (C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24	200.		iscentive out numbers is 50. What is the smallest of these numbers.
(C) 43 (D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(D) 47 (E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24		1. [12] [14] [15] [16] [16] [16] [16] [16] [16] [16]	
(E) None of these.  Q87. Which number should replace both the question mark in the following equation? /49 = 16/?  (A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.   Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(A) 48 (B) 18 (C) 38 (D) 28 (E) None of these.   Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24	087	Which number should a	replace both the question mark in the following equation $2/49 = 16/2$
(B) 18 (C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24	2011		replace both the question mark in the following equation . 747 - 107.
(C) 38 (D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(D) 28 (E) None of these.  Q88. 643.1 x 84.3 = 8? (A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(E) None of these.  Q88. 643.1 x 84.3 = 8?  (A) 10.5  (B) 7.4  (C) 1.2  (D) 13.3  (E) None of these  Q89. 848, 422, 208, 100, 45?  (A) 16.5  (B) 18  (C) 22.5  (D) 24			
(A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(A) 10.5 (B) 7.4 (C) 1.2 (D) 13.3 (E) None of these  Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24	O88.	643.1 x 84.3 = 8 ?	
(B) 7.4 (C) 1.2 (D) 13.3 (E) None of these Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(C) 1.2 (D) 13.3 (E) None of these Q89. 848, 422, 208, 100, 45? (A) 16.5 (B) 18 (C) 22.5 (D) 24			
(E) None of these  Q89. 848, 422, 208, 100, 45?  (A) 16.5  (B) 18  (C) 22.5  (D) 24			
Q89. 848, 422, 208, 100, 45?  (A) 16.5  (B) 18  (C) 22.5  (D) 24		(D) 13.3	
(A) 16.5 (B) 18 (C) 22.5 (D) 24		(E) None of these	
(A) 16.5 (B) 18 (C) 22.5 (D) 24	Q89.	848, 422, 208, 100, 45 ?	
(B) 18 (C) 22.5 (D) 24			
(C) 22.5 (D) 24			
(D) 24			
(E) None of these		(D) 24	
		(E) None of these	

Q90.			il are in the ratio of 8:7 respectively. After 6 yr, the ratio of their ages e difference in their ages?
		10 yr	
	(B)	8yr	
	(C)	4 yr	
	(D)	12 yr	
	(E)	None of these	
Q91.		nple interest accr	rued on an amount at the end of five years @ 12.5 % p.a is Rs. 1575.
		2050	
		2550	
	(C)	2250	
	(D)		For solved Question paper, visit
	(E)	2525	Megeducations.com
000			
Q92.		ational number i	s also:
	(A)	an integer	
	(B)	a real number	
	(C)	a natural number	
	(D)	a whole number	
	(E)	a fraction	
Q93.			ers is 1920 and their HCF is 16. If one of the numbers is 128, find the
	other n		
	(A)	204	
	(D)	0.40	
	(B)	240	
	(C)	260	
	(C) (D)	260 320	
	(C)	260	
Q94.	(C) (D) (E)	260 320 350	the question mark (?)
Q94.	(C) (D) (E) What c	260 320 350	the question mark (?)
Q94.	(C) (D) (E) What c	260 320 350 omes in place of t	the question mark (?)
Q94.	(C) (D) (E) What c 3, 52, 8	260 320 350 omes in place of 6 8, 113, 129?	the question mark (?)
Q94.	(C) (D) (E) What c 3, 52, 88	260 320 350 omes in place of 6 8, 113, 129? 128	the question mark (?)
Q94.	(C) (D) (E) What c 3, 52, 85 (A) (B) (C) (D)	260 320 350 omes in place of 6 8, 113, 129? 128 142 133 138	the question mark (?)
Q94.	(C) (D) (E) What c 3, 52, 83 (A) (B) (C)	260 320 350 omes in place of 6 8, 113, 129? 128 142 133	the question mark (?)
Q94. Q95.	(C) (D) (E) What c 3, 52, 83 (A) (B) (C) (D) (E)	260 320 350 omes in place of 6 8, 113, 129? 128 142 133 138	
	(C) (D) (E) What c 3, 52, 83 (A) (B) (C) (D) (E)	260 320 350 omes in place of to the selection of the s	
	(C) (D) (E)  What c 3, 52, 88 (A) (B) (C) (D) (E)  What is	260 320 350 omes in place of 6 8, 113, 129? 128 142 133 138 None of these 3 25% of 50% of 2	
	(C) (D) (E)  What c 3, 52, 88 (A) (B) (C) (D) (E)  What is (A)	260 320 350 omes in place of 6 8, 113, 129? 128 142 133 138 None of these 325% of 50% of 3 36.5	2/3rd of 630 ?
	(C) (D) (E)  What c 3, 52, 83 (A) (B) (C) (D) (E)  What is (A) (B)	260 320 350 omes in place of 6 8, 113, 129? 128 142 133 138 None of these 325% of 50% of 2 36.5 52.5	